| Validate Print | Help Percentage BoQ | | | | |
|---|---|--|--|--|--|
| Tender Inviting Authority: Staff Officer (civil),CCL, Kathara | | | | | |
| | Name of Work: Repair and maintenance of Community centre drain with path near Asnapani Village under G.M.Unit Kathara | | | | |

| | | | To Be Entered by Department | | |
|--|----------------|-----------------------------|--------------------------------|--------------------------------------|---|
| ITC Not Available | Works Contract | Bidder's Status (Mandatory) | Rate of GST (in %) | GST to be Paid By Bidder (in Rs.) | GST to be Paid By CIL/Subsidiary (in Rs.) |
| Name of the Bidder/ Bidding Firm / Company : | | Select | 18.00 | 0.00 | 0.00 |

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

| NUMBER # | TEXT # | NUMBER # | TEXT # | NUMBER | NUMBER # | TEXT # |
|------------|---|----------|--------|-------------------------|-----------------------|--|
| SI. No. | Item Description | Quantity | Units | Estimated Rate in Rs. P | TOTAL AMOUNT in Rs. P | TOTAL AMOUNT In Words |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 |
| 1 | Item Description/ Heading | | | | | |
| 2 | Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, for all lift, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kinds of soil. | 178.57 | cum | 205.80 | 36749.71 | INR Thirty Six Thousand Seven Hundred & Forty Nine and Paise Seventy One Only |
| 3 | Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level :1:134:3 (1 Cement: VA coarse sand (zone-lli) derived from natural sources . 3 graded stone aggregate 20 mm nominal size derived from natural sources) | 65.00 | cum | 7,907.55 | 513990.75 | INR Five Lakh Thirteen Thousand Nine Hundred & Ninety and Paise Seventy Five Only |
| 4 | Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete. | 23.35 | cum | 1,438.10 | 33579.64 | INR Thirty Three Thousand Five Hundred & Seventy Nine and Paise Sixty Four Only |
| 5 | Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 50 in foundation and plinth in:Cement mortar 1:6 (1 cement : 6 coarse sand) | 28.44 | cum | 6,770.05 | 192540.22 | INR One Lakh Ninety Two Thousand Five Hundred & Forty and Paise Twenty Two Only |
| 6 | 12 mm cement plaster finished with a floating coat of neat cement of mix :1:4 (1 cement: 4 fine sand) | 216.00 | sqm | 303.20 | 65491.20 | INR Sixty Five Thousand Four Hundred & Ninety One and Paise Twenty Only |
| 7 | 12 mm cement plaster of mix :1:6 (1 cement: 6 fine sand) | 130.00 | sqm | 230.60 | 29978.00 | INR Twenty Nine Thousand Nine Hundred & Seventy Eight Only |
| 8 | Surface dressing of the ground including removing vegetation and in- equalities not exceeding 15 cm deep and disposal of rubbish, lead up to 50 m and lift up to 1.5 m. All kinds of soil | 1500.00 | sqm | 20.50 | 30750.00 | INR Thirty Thousand Seven Hundred & Fifty Only |

| Quoted Rate in Wo | rds | | INR Zero Only | | | |
|------------------------|---|--------|---------------|----------|----------|--|
| Quoted Rate in Figures | | | Select | | 0.00 | INR Zero Only |
| Total in Figures | | | | | | INR Ten Lakh Twenty Four Thousand Six Hundred & Ten and Paise Ninety Six Only |
| 17 | Total impact of GST for the purpose of CTC | 1.000 | Nos | 0.00 | | INR Zero Only |
| 16 | Providing and fixing Imm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3 mm M.S. gusset plates at the junctions and corners, all necessary fittings complete, including applying a priming coat of approved steel primer. Using flats 30x6mm for diagonal braces and central cross piece | 1.80 | sqm | 4,422.65 | 7960.77 | INR Seven Thousand Nine Hundred & Sixty and Paise Seventy Seven Only |
| 15 | Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level. Thermo-Mechanically Treated bars of grade Fe-500D or more. | 135.00 | kg | 105.60 | 14256.00 | INR Fourteen Thousand Two Hundred & Fifty Six Only |
| 14 | Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | 150.00 | cum | 107.00 | 16050.00 | INR Sixteen Thousand &Fifty Only |
| 13 | Providing, hoisting and fixing above plinth level up to floor five level precast reinforced cement concrete work in string courses, bands, copings, bed plates, anchor blocks, plain window sills and the like, including the cost of required centering, shuttering but, excluding cost of reinforcement with 1:1.5:3 (1 cement: 1.5 coarse sand (zone-III) derived from natural sources: 3 graded stone aggregate 20 mm nominal size derived from natural sources). | 1.50 | cum | 9,432.95 | 14149.43 | INR Fourteen Thousand One Hundred & Forty Nine and Paise Forty Three Only |
| 12 | By Mechanical Transport including loading,unloading and stacking Earth Lead - 5 km | 170.00 | cum | 224.10 | 38097.00 | INR Thirty Eight Thousand &Ninety Seven Only |
| 11 | Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade :One or more coats on old work | 15.00 | sqm | 73.40 | 1101.00 | INR One Thousand One Hundred & One Only |
| 10 | Colour washing such as green, blue or buff to give an even shade :New work (two or more coats) with a base coat of white washing with lime excluding Satna lime wash on walls with one coat. | 605.00 | sqm | 24.35 | 14731.75 | INR Fourteen Thousand Seven Hundred & Thirty One and Paise Seventy Five Only |
| 9 | White washing with lime to give an even shade: New work (three or more coats) | 605.00 | sqm | 25.10 | 15185.50 | INR Fifteen Thousand One Hundred & Eighty Five and Paise Fifty Only |